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ML TS RF v HEAE

BILTSRAFVIEEE 5% %200 E5HNM<L=6m (NEE) x 57, 600
BILTSRAFVIEEE b 250 Ebm<L=6m(NEE) x 66, 900
BILTSRAFVIEEE b 2300 EbSm<L=6m(NEE) x 89, 400
BILTSRFVIEEE b &350 Ebm<L=6m(NEE) x 112, 000
BILTSRFVIEEE b 400 EbSm<L=6m(NEE) x 130, 000
WILTSRF v o HAE 5IE {2450 E5n< L <6m(NEE) % 150, 000
WILTSRF v o HAE 5IE {2500 E5n< L <6m(NEE) % 177,000
BILTSRAFVIEEE b 2600 Ebm<L=6m(NEE) N 220, 000
WILTSRF v o HAE 5H %700 E5n< L <én(REE) % 263,000
WILTSRF v o HAE 5 %800 Eb5n< L <ém(REE) % 311,000
WILTSRF v o HAE 5 %900 E5n< L <én(REE) % 371,000
WILTSRF v o HAE 5 %1000 E5n< L <ém(REE) % 445,000
WILTSRF v o HAE 5 %1100 E5n< L <én(REE) % 523, 000
WILTSRF v o HAE 5 %1200 E5n< L <én(REE) % 642, 000
WILTSRF v o HAE 5 %1350 E5n< L <ém(REE) % 801, 000
WILTSRF v o HAE 5 %1500 E5n< L <ém(REE) % 966, 000
BILTSRF v o HAE 5 %1650 E5n< L <ém(REE) & 190, 000
BILTSRF v o HAE 5 %1800 E5n< L <ém(REE) & 420,000
BILTSRF v o HAE 5 %2000 E5n< L <én(REE) & 770,000
BILTSRF v o HAE 4 2400 ESn< L <6n(REE) & 133. 000
BILTSRF v o HAE 4B 450 ESn< L <én(REE) & 153,000
BILTSRF v o HAE 4B E500  ESn< L <én(REE) & 179, 000
BILTSRF v o HAE 4B %600 ESn< L <én(REE) & 225,000
BILTSRF v o HAE ME BI00  ESn< L <én(REE) & 268, 000
BILTSRF v o HAE 4 %800 ESn< L <én(REE) & 318,000
BILTSRF v o HAE 4 2900 E5n< L <bn(MEE) & 379, 000
BILTSRF v o HAE 4 21000 E5n< L <6n(MEE) & 455, 000
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WILTSRF v o HAE 48 21100 E5n< L <6m(NEE) % 536, 000
WILTSRF v o HAE 48 21200 E5n< L <6m(NEE) % 656, 000
BILTSRAFVIEEE 438 %1350 ESm<L =6m(NEE) N 817,000
WILTSRF v o HAE 48 21500 E5n< L <6m(NEE) % 987, 000
BILTSRFVIEEE 438 %1650 ESm<L =6m(NEE) N 1,220,000
WILTSRF v o HAE 48 21800 E5n< L <6m(NEE) % 1, 450, 000
WILTSRF v o HAE 48 22000 E5n< L <6m(NEE) % 1,810, 000
BILTSRAFVIEEE 33 400 ESm<L=6m(NEE) x 135, 000
WILTSRF v o HAE 3E 2450 ESn< L <6n(NEE) % 156. 000
WILTSRF v o HAE 3 E500  ESn< L <én(REE) % 184,000
WILTSRF v o HAE 3 %600 ESn< L <ém(REE) % 230,000
WILTSRF v o HAE 3 B0 ESn< L <én(REE) % 274,000
WILTSRF v o HAE 3 %800 ESn< L <én(REE) % 324,000
WILTSRF v o HAE 3 BI00  ESn< L <én(REE) % 387,000
WILTSRF v o HAE 3 %1000 E5n< L <én(REE) % 464, 000
WILTSRF v o HAE 3 E1100 E5n< L <én(REE) % 549, 000
WILTSRF v o HAE 3 %1200 E5n< L <én(REE) % 669, 000
BILTSRF v o HAE 3 %1350 E5n< L <én(REE) & 835,000
BILTSRF v o HAE 3 %1500 E5n< L <én(REE) & 1,000, 000
BILTSRF v o HAE 3 %1650 E5n< L <én(REE) & 1, 240, 000
BILTSRF v o HAE 3 %1800 E5n< L <én(REE) & 1, 480, 000
BILTSRF v o HAE 3 %2000 E5n< L <én(REE) & 1, 850, 000
BILTSRF v o HAE 2 R450  E5n< L <bn(REE) & -
BILTSRF v o HAE 28 2500 E5n< L <6n(MEE) & -
BILTSRF v o HAE 2 2600 E5n< L <6n(REE) & -
BILTSRF v o HAE 2 2700 E5n< L <bn(MEE) & -
BILTSRF v o HAE 28 2800 E5n< L <6n(MEE) & -
BILTSRF v o HAE 28 2900 E5n< L <bn(MEE) & -
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BIETSRF v O EEE 22 zmoo Ebn< L <6m(HEE) & i
BILTSRF v I HAE 21100 F5n< L <6n (HEE) N
BILTSRF v o HAE 208 {21200 Ebn< L <6m (REE) N -
BILTSRF v I HAE 2 %1350 £5n< L <én(REE) & -
BILTSRF v I EAE 28 %1500 £5n< L <én(REE) & -
BILTSRF v I EAE 2 %1650 £5n< L <6n(REE) & -
BILTSRF v o HAE 298 {21800 Ebn< L <6m(MEE) N -
BILTSRF v I EAE 20 %2000 £5n< L <én(REE) & -
BIETSRF v I EAE 51 2200  R3n< L <dn(KEE) & ;

S 5% 12250 K3 < 34,700
§§1tj7x§‘y7%§g¢§ m< L <4m(REE) & 10300
BILTSRF v I HAE b1 12300 FE3n< L <in(AEE) X s

f .80
BILTSRF I HAE 57 2350  E3n< L <4n(AEE) & ;

- 5% {2400 E3 < 67. 500
§§1tj7x§‘y7%§g¢§ m< L <4m(REE) &

- 5% {2450 E3 < 78, 200
§§1tj7x§‘y7%§g¢§ m< L <4m(REE) &

- 5% {2500 E3 < 90. 100
§§1tj7x§‘y7%§g¢§ n< L <4m(REE) &

5 518 12600 En< L= 106, 000
§§1tj7x§‘y7%§g¢§ n< L S4m(NEE) *

s 5FE 12700 Edm<L = 133, 000
BLZS27 2 MEE L Sin(REE) X 158, 00
ik TS AT v o A 58 {2800 E3n< L <4n(NEH) N - 0
ik TS AT v o A 58 {2900 E3n< L <4n(NEH) . - 00
MILTSRF v I HAE 5% %1000 R3m<L S4n(REE) n 268,OOO
MILTSRF v I HAE 5% %1100 R3m< L S4n(REE) n 315,OOO
ik TS AT v o A 58 21200 E3n< L <4n(NEH) . 388,000
MILTSRF v I HAE 518 %1350 RIn<L =dn(REE) n , 000

N f 484
MILTSRF v I HAE 5% %1500 EIm< L =4m(REE) n , 000

_ 518 121650 E3m< | < 571, 000
BIETSRAFYIHEERE n< L <4m(REE) N -
WETSRF v o BEE 57 {21800 £3n< L <dn(REE) —

s 558 122000 Edm< L = * 842,000
AlLz9272 2888 psL S (AT E:S 1,050, 0
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WILTSRF v o HAE 5 %2400 E3n< L <dn(REE) & -
WILTSRF v o HAE 5 %2600 E3n< L <dn(REE) & -
WILTSRF v o HAE 5 %2800 Edn< L <dn(REE) & -
WILTSRF v o HAE 5 %3000 £3n< L <dn(REE) & -
WILTSRF v o HAE 4B %200 EIn< L <dn(REE) & 35, 400
WILTSRF v o HAE 48 B250  Edn< L <dn(REE) & 41,000
WILTSRF v o HAE 48 %300 EIn< L <dn(REE) & 55, 000
WILTSRF v o HAE 48 B350 Edn< L <dn(REE) & 69, 000
WILTSRF v o HAE 4B B0 EIn< L <dn(REE) & 79,700
WILTSRF v o HAE 4B B450  Edn< L <dn(REE) & 91,800
WILTSRF v o HAE 4B B500  Edn< L <dn(REE) % 107,000
WILTSRF v o HAE 4B %600 Edn< L <dn(REE) % 135,000
WILTSRF v o HAE 4B BI00  En< L <dn(REE) % 161, 000
WILTSRF v o HAE 4B %800 Edn< L <dn(REE) % 191,000
WILTSRF v o HAE ME B0 Edn< L <dn(REE) % 228,000
WILTSRF v o HAE 4B %1000 E3n< L <dn(REE) % 274,000
WILTSRF v o HAE 4B B1100 En< L <dn(REE) % 322,000
BILTSRF v o HAE ME %1200 E3n< L <dn(REE) & 396, 000
BILTSRF v o HAE 4B %1350 E3n< L <dn(REE) & 493, 000
BILTSRF v o HAE 4B %1500 E3n< L <dn(REE) & 583, 000
BILTSRF v o HAE 4B %1650 E3n< L <dn(REE) & 725,000
BILTSRF v o HAE 4B %1800 E3n< L <dn(REE) & 859, 000
BILTSRF v o HAE ME %2000 E3n< L <dn(REE) & 1,070, 000
BILTSRF v o HAE 4 22200 E3n< L <dn(REE) & -
BILTSRF v o HAE 4 22400 E3n< L <dn(REE) & -
BILTSRF v o HAE 4 22600 E3n< L <dn(REE) & -
BILTSRF v o HAE 4 22800 E3n< L <dn(REE) & -
BILTSRF v o HAE 4 23000 E3n< L <dn(REE) & -
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WILTSRF v o HAE 3 E200  EIn< L <dn(REE) & 36,200
BILTSRAFVIEEE 3 2250 EIn<L=4m(REE) x 41,900
WILTSRF v o HAE 3 E300  EIn< L <dn(REE) & 56,100
BILTSRAFVIEEE 3% 12350 EIn<L=4m(REE) x 70, 400
WILTSRF v o HAE 3 B0 EIn< L <dn(REE) & 81,400
BILTSRFVIEEE 3 2450 EIn<L =4m(REE) x 93, 800
WILTSRF v o HAE 3 E500  Edn< L <dn(REE) % 108000
BILTSRAFVIEEE 3 12600 EIn<L =4m(REE) N 138,000
WILTSRF v o HAE 3 B0 EIn< L <dn(REE) % 164, 000
WILTSRF v o HAE 3 %800 Edn< L <dn(REE) % 194000
WILTSRF v o HAE 3 BI00  EIn< L <dn(REE) % 232,000
WILTSRF v o HAE 3 21000 En< L <dn(REE) % 279,000
WILTSRF v o HAE 3 E1100 EIn< L <dn(REE) % 330, 000
WILTSRF v o HAE 3 %1200 EIn< L <dn(REE) % 404, 000
WILTSRF v o HAE 3 %1350 En< L <dn(REE) % 504, 000
WILTSRF v o HAE 3 E1500 Edn< L <dn(REE) % 606, 000
WILTSRF v o HAE 3 %1650 EIn< L <dn(REE) % 740,000
BILTSRF v o HAE 3 %1800 EIn< L <dn(REE) & 876,000
BILTSRF v o HAE 3 %2000 E3In< L <dn(REE) & 1,090, 000
BILTSRF v o HAE 3 22200 En< L <dn(REE) & -
BILTSRF v o HAE 3 22400 Edn< L <dn(REE) & -
BILTSRF v o HAE 3 22600 Edn< L <dn(REE) & -
BILTSRF v o HAE 3 22800 Edn< L <dn(MEE) & -
BILTSRF v o HAE 3 23000 EdIn< L <dn(REE) & -
BILTSRF v o HAE 2 2200 EIn< L <dn(REE) & -
BILTSRF v o HAE 2 2250 En< L <dn(REE) & -
BILTSRF v o HAE 2 2300 EIn< L <dn(REE) & -
BILTSRF v o HAE 28 2350 Ein< L <dn(REE) & -
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BIETIRF v o HEE 2 2400 Ein< | <n(WEE) & -
BIETIRF v o HEE 2 2450 Ein< | <dn(WEE) & -
BIETIRF v o HEE D 2500  Ein< | <dn(WEE) & -
BIETIRF v o HEE D 2600 Ein< | <dn(WEE) & -
BIETIRF v o HEE 2 2100 Ein< | <n(WEE) & -
BIETIRF v o HEE 2 2000 Ein< | <dn(WEE) & -
BIETIRF v o HEE 2 2900 Ein< | <dn(WEE) & -
BIETIRF v o HEE 2 121000 Ein< | <dn(HEE) & -
BIETIRF v o HEE 2 fE1100 Ein< | <n(HEE) & -
BIETIRF v o HEE 2 f£1200 Edn< | <dn(WEE) & -
BIETIRF v o HEE 2 121350 Ein< | <dn(WEE) & -
BIETIRF v o HEE 2 {21500 Edn< | <dn(HEE) & -
BIETIRF v o HAE 2 121650 Ein< | <dn(WEE) & -
BIETIRF v o HAE 2 121800 Ein< | <dn(WEE) & -
BIETIRF v o MAE 2122000 Ein< | <dn(WEE) & -
BIETIRF v o MAE 2 22000 Edn< | <dn(WEE) & -
BIETIRF o HEE 2 122400 Ein< | <dn(WEE) & -
BIETIRF v HAE 2 122600 E3n< L <dn(KEE) & -
BIETIRF v HAE 2122800 E3n< L <dn(RNEE) & -
BIETIRF v HEE 2 fE3000 E3n< L <dn(NEE) & -




